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QUESTION 1

Which Linux utility allows you to configure a NIC card?

A. netstat

B. ifconfig

C. sar

D. ipconfig

Correct Answer: B
{\rtfl\ansi\ansicpg936\deffO\deflang1033\deflangfe2052{\fonttbI{\fO\fnil\fcharset0 MS Shell Dig 2;}}

\viewkind4\uc1\pard\lang2052\fO\fs17 http://en.wikipedia.org/wiki/Ifconfig\par Usage Common uses for ifconfig include
setting an interface\\'s IP address and netmask, and disabling or enabling a given interface. \par }

QUESTION 2

After some analysis, you determine that more memory is needed to address a system bottleneck. How do you increase
the memory and ensure the additional resources are effective to meet the need?

A. Add the memory and monitor perform counter % Usage Peak to verify that it is
B. Add the memory and increase the amount of the Paging File to equal the total amount of memory installed plus 10%

C. Establish a baseline performance report, install the new memory, create a new baseline report and compare it
against expectations and the first baseline.

D. Run Task Manager to check the amount of physical memory available, add the new memory and confirm the addition
by running Task Manager again to show the new resources.

Correct Answer: C

QUESTION 3

Which statement is true about a JBOD?

A. Itis configured as a RAID 0 by default.

B. It contains a minumum of one hot spare disk.

C. It offers no data redundancy or striping

D. Itis connected to a minimum of two hosts by default.
Correct Answer: C

{\rtf1\ansi\ansicpg936\deffO\deflang1033\deflangfe2052{\fonttbI{\fO\fnil\fcharset0 MS Shell DIg 2;}}
\viewkind4\uc1\pard\lang2052\fO\fs17 Industry Standard Architecture - Student Guide 1 - Page 250\par Just a bunch of
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disks (JBOD) is a storage option that connects one or more standalone disk drives to a RAID controller or other drive
controller of a server. This option increases capacity and is used for noncritical business data.\par The JBOD drive does
not become part of a RAID array, but it is made available to the server on the same interconnect bus as the other
devices controlled by the RAID controller. The JBOD disk drive has no data redundancy or striping.\par }

QUESTION 4

Which address range of the first octet is assigned to a TCP/IP class C network?

A. 1-64

B. 64-126

C. 128-191

D. 192-223

Correct Answer: D

{\rtf1\ansi\ansicpg936\deffO\deflang1033\deflangfe2052{\fonttbI{\fO\fnil\fcharset0 MS Shell DIg 2;}}
\viewkind4\uc1\pard\lang2052\fO\fs17 Industry Standard Architecture - Student Guide 2 - Page 45\par Class Address

range Default Subnet IP address Subnet mask\par A 1 -126 Network.host.host.host 255.0.0.0\par B 128 -191
Network.network.host.host 255.255.0.0\par C 192-223 Network.network.network.host 255.255.255.0\par }

QUESTION 5

You added memory to a 4-socket AMD Operton-based server. The new memory does not show in POST and the
operating system does not see it. You verified that the memory is correct for this server model. Why is the memory not
being used?

A. System Maintanance Switch DIP SW2 is set to ON and the Configuration Lock is enabled.

B. You exceeded the server\\'s maximum memory capacity.

C. The memory was added to a bank with no process in the adjoining socket.

D. There is a memory size mismatch on DR2 and AMD HyperTransport bus.

Correct Answer: C
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